
23

32

41

421

8

11

826

25

24
38

1

33

12

13
215

34

36
3727

22

17

19

16

8

21

24

10

4 35

3

5

18

31

28
13

7

36

29

13

36 9

14

5 5

5 6
66

6

1 Battery 00801-0712 1
2 Steering Column N/A 77565-4239 1
3 Body N/A 77565-2109 1
4 Tub N/A 77565-2119 1
5 Screw #8 x 2 1/4" LG N/A0801-0461 7
6 Washer 7/16 0801-0196 10
7 Screw #8 x 4 1/2" LG N/A0801-0462 3
8 Bushing 74550-2689 6
9 Rear Wheel n/A 73221-2459 2
10 Driver N/A 74550-2239 2
11 Front Wheel N/A 76804-2459 2
12 Front Axle N/A 76804-4529 2
13 Screw #8 X 7/8" 0801-0228 4
14 PW-FP Emblem Set 74540-9069 1
15 Foot Board Assembly 74550-9159 1
16 Gearbox w/o Motor 74580-9269 2
17 Motor Super 6V 

W/ Pinion Gear 74580-9539 1
18 Control Switch 0801-0148 1

19 Screw with Nylok N/A 0801-0198 2
20 Motor Bolt 0801-0269 1
21 Hubcap N/A 77565-2129 4
22 Motor Cover, Right N/A 74580-2119 1
23 Rear Axle N/A 76804-4539 1
24 .437 Cap Nut (Black) 0801-0226 6
25 Crossbar N/A 76804-4449 1
26 Steering Linkage N/A 76804-4259 1
27 Main Harness N/A 78580-9799 1
28 Seat N/A 74580-2309 1
29 Steering Wheel N/A 73233-2739 1
30 Screw 0801-0222 4
31 Steering Wheel Cov N/A 77565-2729 1
32 Charger S6V 00801-0974 1
33 Battery Retainer N/A 76181-4419 1
34 Wire Retainer 74550-2299 1
35 Thermal Fuse 0801-0153 1
36 .354 Cap Nut (Black) 0801-0215 3
37 Retainr .354 w/o Cap N/A 0801-0252 3

38 Switch Hole Cover N/A 76188-2449 1

Parts Not Shown
Literature Bag N/ 77565-9019 1
Small Parts Bag N/A 77565-9259 1
Retainer Assembly Tool N/A 77565-2019 1
Decal Sheet - Main N/A 77565-0320 1
Decal Sheet - WindowsN/A 77565-0330 1
Decal - Steering Hole N/A 77565-0340 1
Motor Cover, Left N/A 74580-2129 1
3A Gearbox with Motor 76804-9519 2

Bold and Underlined parts are to be pur-
chased and installed by Service Centers only.
These items may not be sold directly to con-
sumers by Service Centers or Fisher-Price.

77565-9993
Cartoon Network Wacky

Racing Stock Car
Walmart Exclusive

Preschool Series
Super 6 Volt

Rev. 07/30/03

Item Part
No. Description No. Qty.

Item Part
No. Description No. Qty.

Item Part
No. Description No. Qty.

Age Range: 3-6 Yrs 
Weight Limit: 65 Lbs.
Surfaces: Hard & Grass
Speed: 3.5 MPH
Colors: Yellow Body

Cartoon Decals
Available: 9-17-96 - 1997
Warranty: 90 Days Vehicle

60 Months Battery

This product is
affected by the

PW recall
announced Oct

1998. Please
confirm that

the product is
modified or

remediated in
accordance
with policy.


